= O-I
N & 0 & AF & F Al A
20218 & =0l &k L B3I A A
SN WBFsAD
HE: AZXSIMAKD
ool AEASY S4 CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
T =0 204,353,046 126,829,233 77,523,813
= 35,384,525
s 1,619,000
J| 134,386,890
< 32,962,631
AMEgNSZHEH LD 180,501,505 105,500, 584 75,000,921
= 32,584,525
s 93,000
J| 134,386,890
< 13,437,090
MEd=sd |4 25,262,877 25,358,957 296,080
= 20,421,649
s 93,000
J| 500,000
< 4,248,228
sy a4 -012 - ]S Jlgt 25 680,290 196,200 484,090
202 odl 7,650 9,000 A 1,350
01 = LH o4 1l 7,650 9,000 A 1,350
oFEASY SHYL =7 7,650
308 XIS SO0 72,000 72,000 0
01 AXSGHBLEES 72,000 72,000 0
OzgZeEssME ZHEM N 72,000
403 MHXISHHE X201 E 600,640 115,200 485,440
01 XM A2 600,640 115,200 485,440
orEAd=Y NEMEHN =4 61,200
Oz EFdsLE I8 - RSIIEH =4 539,440
Ed=sgy 243 XA 681,480 410,000 271,480
308 XXM S0 A 681,480 410,000 271,480
01 AXSHHBLEES 681,480 410,000 271,480
orEd skl 23 390,000
OFBASME AZ=XY| 123,480
OR=sx & HA=HM K& 168,000
SIEHE XNE(212) 16,576,000 16,576,000 0
= 14,800,600
< 1,775,400
308 XXM S0l A 16,576,000 16,576,000 0
= 14,800,600
< 1,775,400
01 IXNHHBMNEES 16,576,000 16,576,000 0
ORJIEH =z =23 16,576,000
= 14,800,600
< 1,775,400
ELNHNM XN (22) 4,702,685 4,696,085 6,600




FAN: HEIsS
HE: AZXSIMAKD
ool AEASY S4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,065,702
< 636,983
308 XX EHHSOIA 4,702,685 4,696,085 6,600
= 4,065,702
< 636,983
01 HIXNHHBNEES 4,702,685 4,696,085 6,600
OELMEHM X 4,702,685
= 4,065,702
< 636,983
HEB=sy NF2AE(=12) 130,200 316,450 A 186,250
- 93,000
< 37,200
403 XIS S X201 & 130,200 316,450 A 186,250
s 93,000
< 37,200
01 X SHHX2E = 130,200 316,450 A 186,250
ozadsy N7xH 130,200
s 93,000
< 37,200
AEsd=sgE(=21) 1,201,180 1,201,180 0
= 1,201,180
308 AAIEHHSOIA 1,201,180 1,201,180 0
= 1,201,180
01 HXNHHNBMNEELES 1,201,180 1,201,180 0
oI HEI=AM 1,201,180
= 1,201,180
RISYXM N (21) 296,042 296,042 0
= 204,167
= 91,875
308 XXM SO0 A 296,042 296,042 0
= 204,167
= 91,875
01 HIXNHHBNEES 296,042 296,042 0
ORIIsSM XI& 296,042
= 204,167
< 91,875
Zojctg 8P MNZE S4(2D) 800,000 800,000 0
J| 500,000
= 300,000
307 21201 A 800,000 800,000 0
J| 500,000
< 300,000
02 At FAAHEX 800,000 800,000 0
oLty eEd MIEXA =4 800,000
Jl 500,000




FAN: HEIsS
BHu: AYXNSHMH D
Sel: HBPSY S4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| < 300,000
sgsgBEdIZ A (=21) 195,000 0 195,000
= 150,000
< 45,000
308 AHXIEHHSOIA 195,000 0 195,000
=2 150,000
< 45,000
01 HXNHHNBHNEELS 195,000 0 195,000
O=sgazd2dZ=z20Y 195,000
= 150,000
< 45,000
MAY FWHA 25 140,383,664 40,994,267 99,389,397
= 4,344,996
J| 133,663,870
< 2,374,798
NDSEA MA 2,028,110 1,439,767 588,343
202 oddl 4,980 5,850 A870
01 = LH o4 1l 4,980 5,850 AB70
oMY AL =T 4,980
307 glz2tol & 50,000 62,000 A 12,000
04 QIZFHALAIH B = 50,000 62,000 A 12,000
odas =2 0HAHE XA 50,000
308 A EHSOIA 1,200,980 1,002,992 197,988
01 HXNHHNBHNEELS 1,200,980 1,002,992 197,988
OZ=sAM XA 709,980
OZ3A AdHI=X XA 123,000
OL3L HEAHMH XN X2 270,000
Ox==2d & A 68,000
ONSE st ML RIIEHE X 30,000
403 MtXISHH S =0l & 772,150 368,925 403,225
01 XM A2E X 772,150 368,925 403,225
OH =X A&&EH X& 197,350
O3HAMH m=2xI| XNE 61,500
OMXME & 30| 2= 495,300
o ZHANLE XA 18,000
e 22 (NH) X (2D)(HH) 41,000 41,000 0
= 41,000
201 Let249] 19,400 19,400 0
= 19,400
01 At 22/l 19,400 19,400 0
CEEIE R 19,400
= 19,400
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L= B

el

nE
o o
THo O
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9 ¥ 0

oY 12

02

JY
oy =
9 b

0
0z
e

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

202 Od4dl 21,600 21,600 0
= 21,600

01 =S LHAYI 21,600 21,600 0
ox=zel =2 21,600
= 21,600

F2d=22 Ul (KXAM) XNE(=212) 1,511,498 996, 886 514,612
= 1,511,498

308 XXM SO A 1,511,498 996, 886 514,612
= 1,511,498

01 IXNSHHBMNEES 1,511,498 996, 886 514,612
o¥=ELd 22l (XIXHA) X 1,511,498
= 1,511,498

SEIRE THHXI A (22) 2,346,186 3,669,620 A 1,323,434
= 2,182,498
< 163,688

308 XX EHH SOl A 2,346,186 3,669,620 A 1,323,434
= 2,182,498
< 163,688

01 X HHILEES 2,346,186 3,669,620 A 1,323,434
ONMAZFEM XA 2,346,186
= 2,182,498
< 163,688

RPC ZAAL HE2(22) 793,000 328,900 464,100
= 610,000
S 183,000

403 XM SA=0l& 793,000 328,900 464,100
= 610,000
< 183,000

01 X SHMA2E X 793,000 328,900 464,100
ORPC BEAIA HE= 793,000
= 610,000
= 183,000

SAXNEZ HIXRA (=) 582,000 0 582,000
J| 582,000

202 odl 9,000 0 9,000
J| 9,000

01 = LH o4 1l 9,000 0 9,000
OZAXEH At =& 9,000
J| 9,000

308 MtXIEHMSOIH 573,000 0 573,000
J| 573,000

01 HXNHHNBHELS 573,000 0 573,000
OZ3AUA=HM HEH X 573,000
J| 573,000




2N
X ZH -
L= B
el

E Jx o
> o rho

-

9 ¥ 0
Mo OF
)
02 B
I

o >

Bk

0
0z
e

A - ER(EN) - AR - B of & o4 SSa HIDZ2
SAAES ESZAMH XN (21) 48,870 0 48,870
Il 48,870
308 XXM SO0I™ 48,870 0 48,870
2l 48,870
01 XM B EEES 48,870 0 48,870
O3AAES EL M X 48,870
Jl 48,870
2ANES(21) 133,033,000 0 133,033,000
Il 133,033,000
308 AR M SO0l & 133,033,000 0 133,033,000
Il 133,033,000
01 XM BaE2ES 133,033,000 0 133,033,000
oJlzg sAH=H 133,033,000
Jl 133,033,000
2HE Ha0g =4 3,185,584 13,709,058 ~10,523,474
= 44,880
Jl 223,020
S 2,917,684
FIA OIS &&= 3383 M2 676,520 311,180 365,340
202 o4 Hl 3,060 3,600 A 540
01 S OHI 3,060 3,600 A 540
OFTAliS &&= B8y =4 3,060
308 Xt &M S 01 A 673,460 307,580 365,880
01 XM B EES 673,460 307,580 365,880
QBT F&A S5 Mt 98,460
ozBAE™ME HEe XA 200,000
OZ&ZA MHExz X4 36,750
ogx= EsMM XN& 338,250
MNZR HEEX 84 K& 44,400 0 44,400
403 TtXI M SA=01A 44,400 0 44,400
01 TtXI M It2 2 & 44,400 0 44,400
OMzaXt MEX |54 XA 33,600
OZNHESE MaoFH X 10,800
2= 833 105,300 0 105,300
308 At M SO0l & 24,000 0 24,000
01 XM BaE2ES 24,000 0 24,000
2=+ 53 24,000
403 X EHH S A =01 A 81,300 0 81,300
01 X SHH 2L E 81,300 0 81,300
O+ MARSHE AMEMH 6,000




SN WBFsAD
HE: AZXSIMAKD
Sl WX MADIE X4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o34ty Il 24 75,300
SNt =+ 1,140,000 1,203,750 263,750
308 XXM SOl A 1,140,000 1,203,750 A 63,750
01 IXNHHBNEES 1,140,000 1,203,750 263,750
OsgaxzEdE NA 1,140,000
gsdAE3(=22) 223,020 11,531,206 A 11,308, 186
J| 223,020
308 X XIEHHSOIA 223,020 11,531,206 A 11,308, 186
J| 223,020
01 X HHILEES 223,020 11,531,206 A 11,308, 186
OY=dAEM(=0122) 223,020
J| 223,020
DHANZI =S HFMA(THAINAFFH ) (A E 938,000 0 938,000
x#)
307 21201 A 938,000 0 938,000
02 YAFLAANFEE 938,000 0 938,000
ODHAZX =ZHFHMA(THAILHSEH) 938,000
S0l OS2 ZEAL XA (=21) 58,344 95,238 A 36,894
= 44,880
< 13,464
403 A X EHHS =0l A 58,344 95,238 A 36,894
= 44,880
< 13,464
TAXEH =2 X 58,344 95,238 A 36,894
O%ofl OtMsS=2 ZEAIE X2 58,344
= 44,880
< 13,464
AJHE R ASOHA 2,669,380 17,338,702 A 14,669,322
= 1,473,000
= 1,196,380
sIH 25 - 2 889,780 3,171,600 A2,281,820
202 O4dl 4,980 5,850 A870
01 = LH 4 bl 4,980 5,850 A 870
OsZIIAHS ¥ ASE =& 4,980
308 XXM SO A 180,000 2,010,000 A 1,830,000
01 IXNSHHBANEES 180,000 2,010,000 A 1,830,000
OLU=sIIAH =cl2gd XN& 180,000
403 XIS E X201 H 704,800 1,155,750 A 450,950
T RAXEHAZE X 704,800 1,155,750 A 450,950
O=JIH LAY XA 645,000
O=sJ1H &3 F&A 59,800




2N
X ZH -
L= B

el

ST
MYRSHBAN D
SQIIHE L ASOHE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

SOIHYMAIES A X (=2D) 960,000 0 960,000
2 800,000
& 160,000

403 XX SHHS K201 & 960,000 0 960,000
= 800,000
= 160,000

01 XIS AS2E X 960,000 0 960,000
OsIIHYUHAG A XIS 960,000
= 800,000
=} 160,000

SIOIHSSHER SENA(2D) 69,600 174,000 104,400
= 48,000
= 21,600

308 XNXIGHSO0l& 69,600 174,000 A 104,400
= 48,000
= 21,600

01 HXHHBIMNEXS 69,600 174,000 A 104,400
SSIIH S3EX 22X 69,600
= 48,000
= 21,600

FAMAXL2D|HE sIOIH N (=2D) 240,000 2,400,000 A 2,160,000
= 200,000
=} 40,000

403 "X SHSK =0l & 240,000 2,400,000 A2,160,000
2 200,000
= 40,000

01 IS A2E X 240,000 2,400,000 A 2,160,000
OFHX Ld2IAHS sI1H KNS 240,000
= 200,000
& 40,000

HAEZSE=IIH RUYXA(21) 510,000 0 510,000
= 425,000
o=t 85,000

403 XS H S K20l & 510,000 0 510,000
= 425,000
& 85,000

01 AIXISHHMA2E X 510,000 0 510,000
OWAMEEESIH PLUXA 510,000
= 425,000
& 85,000

AQE =9 Jlet 2= 9,000,000 8,099,600 900,400
= 6,300,000
& 2,700,000

TASs AHE ADNET ZHAR(2D) 9,000,000 0 9,000,000
= 6,300,000
= 2,700,000




SN eSS
BHu: AYXNSHMH D
el ADE =g DIt =5 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 9,000,000 0 9,000,000
= 6,300,000
< 2,700,000
02 SO 2SOICHsH 2 X 2 A I 9,000,000 0 9,000,000
OXNYES UUHE ADET ZHAY 9,000,000
= 6,300,000
< 2,700,000
SSMAD|IEE =Y 23,816,540 21,286,200 2,530,340
= 2,800,000
as 1,526,000
< 19,490,540
OHEA EISHA =E 4,384,540 4,771,200 A 386,660
= 2,800,000
< 1,584,540
= AADIBE F b 1,252,040 1,046,200 205,840
202 Od4dl 13,770 16,200 AN 2,430
01 = LH o4 Hi 13,770 16,200 A 2,430
O=Y A B FHI 13,770
403 Mt S E X201 & 1,238,270 1,030,000 208,270
01 X SHHAN2E= 1,238,270 1,030,000 208,270
O=HMADIEH HHIAHY 986,750
OMtorA AF2EXICH (M ==XI) off 2 CH = 251,520
JtSHHl S0 332,500 0 332,500
403 MtXISHH S0l & 332,500 0 332,500
01 HIXSHHA2EE 332,500 0 332,500
ogX= It 332,500
Bi=JH& (= 210) 2,500,000 2,500,000 0
= 2,500,000
402 RI2HXt20l ™ 2,500,000 2,500,000 0
= 2,500,000
02 2IZt 2 AL EZ (OIS ) 2,500,000 2,500,000 0
Obi==IHH 2,500,000
= 2,500,000
St HHl ELE(=2) 300,000 300,000 0
= 300,000
403 HXSHHSA=0l& 300,000 300,000 0
= 300,000
01 X ESHHMA=2LE L 300,000 300,000 0
OsteHEl =1 300,000
= 300,000
= ADIBE J| 19,432,000 16,515,000 2,917,000
as 1,526,000




2AN: s
B S MAII XA
Sl S AlE B CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
== 17,906,000
gkl et MH| (& &) 9,236,000 10,779,000 A 1,543,000
403 XXM S K201 A 9,236,000 10,779,000 A 1,543,000
01 XSHNMAHEE = 9,236,000 10,779,000 A 1,543,000
O=SUXF ZIeEUIAIY (X&) 822,000
OUA - 2AX P LI HHHIALE (M &) 1,290,000
OZXE3A 7 LMY ALY (M EH) 1,878,000
OBHTHKRI 7 &D|IBFAEHIAIY (M &) 1,274,000
OAOHR 7 LD BEYIAIY (X EH) 538,000
OSEX T LISEYIAIY (XM EH) 860,000
OIS X7 &EIBFAEHIAIY (M &) 1,493,000
OSEDKXN KT LI|BHEY AL (X&) 215,000
OZ2J| K7 &EIBAEGIAIY (M &) 537,000
OZ22 K7 EIIBHAHIAIY (M &) 200,000
OECIA T &EIBAEHAIY (M &) 129,000
H=2s HXHe(ME) 7,610,000 3,667,000 3,943,000
403 XX SHHMS X201 A 7,610,000 3,667,000 3,943,000
1 AXSHMAEE R 7,610,000 3,667,000 3,943,000
OXHXN T WFEBXNHCIAS (HEH 2,150,000
O2YXNF B XNHCIAIY (HEH) 774,000
OSXXNTF WrEBXNHCIAY(HEH 1,462,000
OCHOIXI = U= BXECIAIY (&) 2,580,000
Os2XNF HWFEBXNEHeIAY (HEH 172,000
SEXP WFREIXNAHIAIY (M EH 172,000
OHEXNF HFEBXNHCIAY (HEH 70,000
OMNEXT HWREFXAHSIAIY (HEH) 172,000
CEXN? WREFXEHCIAIYE (HE) 58,000
AR BHLEINE (HEH) 1,060,000 1,032,000 28,000
403 XtXISHH S K201 1,060,000 1,032,000 28,000
01 HXHXMAHEE = 1,060,000 1,032,000 28,000
OAMEXN T ATFDHHEIHEAIS (X&) 46,000
OCHHEHII P AR IHA AN (X&) 275,000
OAUK T ARDHHEIHAAIS (X&) 206,000
OREN TP AR IHA AN (X&) 60,000
SEXNTP ARZHHEMEAIY (HEH) 129,000
O2HKN T AU IHAALS (HEH) 344,000
SANENANLOIHSSRESTH)(2D) 1,526,000 1,037,000 489,000
rag 1,526,000
403 XX S M S X201 A 1,526,000 1,037,000 489,000
= 1,526,000




2N
X ZH -
L= B

el

R

O Of 2
[Q [e
0z 0z O
o
SRS
e s
0% P
= ox

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 RtXIEHH A2 1,526,000 1,037,000 489,000
O2JIH st & = 1,526,000
s 1,526,000

HYR2IZH (S = 35,001 42,449 AT,448

=& Hl 35,001 42,449 AT,448

2EM2g JI=2Z 4l 35,001 42,449 NT,448

201 LBH2E | 24,903 28,589 N 3,686

01 At 2t 2l 24,903 28,589 A 3,686
ORNE2Y 24,903

202 oddl 6,498 10,260 A3,762

01 S LHOIYI 6,498 10,260 A3,762
2ARY =2 6,498

203 &P EF | 3,600 3,600 0

AV EETEES 3,600 3,600 0
©202! olat 3,600






